Lior Silberman’s Math 100 4
2. LIMITS & ASYMPTOTES (22/9/2023)

Goals.

(1) Limits of functions

(2) Existence and nonexistence of limits: blowup
(3) Asymptotes
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Math 100C — WORKSHEET 2
LIMITS AND ASYMPTOTES
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(1) Review of asymptotics: analyze the expression
as x — 00, x — 0, x = —o0.
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1. LIMITS

(2) Either evaluate the limit or explain why it does not
exist. Sketching a graph might be helpful.

(a) limg_,5 (x3 — :1;)
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(3) Let f(x) = xzf_;B 2
(a) (Final 2014) What is lim,_,3 f(z)?
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(b) What about lim,_,_4 f(x)?
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(4) Evaluate |
(a> limg o0 %%
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(c) limg—y oo SE2%

(5) Evaluate
( ) hmx—)Q 4x+11
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